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QUESTION 1

What statement is TRUE regarding service chaining provided by Nuage VCS?
A. Service chaining is flow-based traffic redirection.

B. Service chaining only works for virtual appliances.

C. A virtual firewall is required to perform service chaining.

D. It consists of packets being forwarded by the local VPLS, then through the enterprise VPRN and lastly the backhaul
VPLS.

Correct Answer: B

QUESTION 2

What statement about stateful ACL entries is FALSE?

A. They can track both TCP and UDP flows.

B. They can be created in either ingress or egress directions.

C. A packet in the direction of the stateful ACL rules will automatically create a “related” rule in the reverse direction.
D. The automatically created rules will not go away until the ACL is manually deactivated and reactivated.

Correct Answer: D

QUESTION 3

Which VSD component provides a south-bound interface for communication with the VSC?
A. VSD Mediator

B. Statistics Engine

C. Policy Management Engine

D. RESTful API

Correct Answer: A

VSD mediator is a VSD Southbound interface used for communication to the VSC. Reference:
https://matscloud.blogspot.com/2017/06/nuage-networks-vsp-deep-dive.html

QUESTION 4
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What impact does server virtualization have on a traditional datacenter network?

A. Traffic between the virtual machines must be carried in the overlay network, which is not supported by a traditional
datacenter network.

B. Server virtualization requires a hardware upgrade of the network devices (for example, TOR/EOR switch, leaf and
spine routers) in a traditional datacenter network.

C. Server virtualization requires a software upgrade of the network devices (for example, TOR/EOR switch, leaf and
spine routers) in a traditional datacenter network.

D. Traditional network configuration involves manual interaction, which cannot keep up with the dynamic reallocation of
compute resources to virtual machines.

Correct Answer: C

QUESTION 5

What mapping is FALSE?

A. CMS — Management plane
B. VSD — Management plane
C. VSC - Control plane

D. VRS - Control plane
Correct Answer: A

Reference: https://docs.oracle.com/en-us/iaas/Content/Resources/Assets/whitepapers/sdn-integration-with-
nuagenetworks.pdf
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